
Standard normal distribution has a mean u so and

standard deviation 0=1

area = 0.1587



1.
area above 2-=/ minus area

above 2-=L

= Or 1587 - 0.0228
= Out359



find z for 3rd column m z-table is close to 0.05

2- s 1.64

µ
area above is ootoo



ppose you have a population of test sco

le = 70

5=10 µ
area is also 0.151

tool
if X is 80 then z - score is 2- = I

X - ie

Z = &
converts scores to z

- scores

80 - 70

2- = To
510

area above za for the standard normal is 0.1587

Or 1587

#
- I

O l

z



Ms 70 0=10

area

•
0668 area

tf f
0228#L

so to 70 to to

find sumof areas for the two tails .

for x. Ss
,
z . th = 5%-70=-1.5

area
below 2- s - 1.5 is . . .

Areas 0.0668

Bd
- y

O l

- 1st Z

for Xsao, 2- = 9%70=2 , area above 2-s2 is . . .
. ozzg

answer : i 0668 t . 02285 .
0896



\

←

Us 70,
0=10

areas 025

I arcuso.gg farms -015.025x
50.4 4=289.6

Aron
5.02T

areas .
02T

b tIt converts E-scores

f - I 0 I 9 to test scores

2- = - 1.96 Z Zs 1.96 f

2- = x-h-ogzaosx-ujx-utz.co
X. = 20 1- d. 963610) =

70+19.6 =

89.6×2--20- ( 1.963110)
= 70 - 19.6 = 50.4

answer is : 50.4 and 89.6


